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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question :l
t number. Use marker or pen ink to fill the circles. Cutting or filling two or more circles will result in zero mark in that guestion. :
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| An Algebraic Expression of the form (12((")) » Q(x) # 0 P(x)and Q(x) are Polynomials is called a : (1) 1
* B
]
Mixed Surd buﬂﬁ (D) Surd (‘uw (C] Rational Expressron ,.Vu"t (B) Rational Number Qe ? »y (A)
............................................ e e gt
(a-b]3 D) a-b (© (a+b)® (B) a+b (A) ; 3-3ab(a-b)~b =7 (2) i
Factorization of (x + 3}2 -4 is : c"..de (x + 3) (3)
(x -1)(x -5) (D) (x +1)(x-5) (C) (x-1)(x+ 5)u(B) (£ + D)(x +5) (4)
If P(x)= x0-2>+5x+1 , then P(1) = . PP IRP ) = -l esx+l S @) |
! 0 O -7 © -5 ® 5 (4
The number of methods to find L.C.M. are : : u“d-)éf_./'?‘)h’ J"I_’Lvlu (3)
3 (D) 2 (Q) 1 (B 0 (A
The Symboal " £ " stands for : : 4._(3)29 "< ek (6) ‘
Greater than or equal to &Iz | Iz (B) Less than < t¥e (A) :
Equal to q_zb:-f- (D) Lessthan or equal to <« «l | b (C) :
Solution Set of |x]| = 3 is : : 4..._‘»:’;_)’!’ | x| = 3 (7)
. ! ) e S S (B) S (A) o ]
Solution Set of x> % 9=\ 0 is : STy ¢ 1 x2 -9 = 0 (8) :
fixa ®) {3} © {*x9}  ® {9} (a) |
P T P AV R TR TR T R I B R e i
Quadratic ‘Formula is : : f-‘:! s 22 (9) :
2 : 5
b” - 4 . = dae |
b 1J b> - dac (D) P B b2 - dac (g 2E) Al i A) |
2a 2a ;I
A Matrix consisting of only one Row is called : : .;..!:!J/s HJKBLF‘J...VUJ’ .)G' (10) ‘
 Scalar Matrix JEAC (D) Identity Matrix 50138/ (C) Column Matrix ..Aso‘r (B) Row Matrix 6L (4) f
In Matrices (AB) 1ar : (AB) =7 é_ﬁ,ugr,' (11)
-1,-1 -1._-1 e | = | z
B A D A B C B B A A ; i
................ oo L © ® A w e
An Arc greater than a Semi Circle is called : : ﬁ:-dui‘( NI RNk (12) i |
- Diameter 5 (D) Major Arc U7 (C) Chord J (B) Minor Are  oAU7  (A) |
The Altitudes of a Triangle are : : Wt i &.EJ?‘ (13) (‘)
.................................... 2 (D) .Non Collinear j"l‘“/"} (C) Collinear J:?r"' (B) Concurrent /F/j Jw..ff {A] : ?
Area of a Square with Side " § " is : et K n"S é"g’fd},wg 4\
_ g2 (D) 28 (C) 458 (B) S (A) | n }
................................................................................................................................................................................. ]
IA point in the 4th Quadrant has its ordinate e : c.d.rr...,a’ J a0 L dl;g,z:d,«&.g- m
- 1 (D) Zero > (C) Negative ( (B) Positive 24 (o) |
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Note : It is compulsory to attempt (6 --6 ) parts each from Q.No.2,3 and 4 and atte
from Part Il. Write same Question No.and its Part No. as given in the question paper.

36=2x18 E Jilo a [ Make diagram where necessary. -J/t=fﬁ-¢d»/‘uba J

If P(y)-= 3y2+ % +9 then find P(0). _u"/?:l” P(0) M P(y)= 3y + -Z +9 ,f (i)
Solve with formula. 8x3 + 27y3 ..-.)_‘/J'x:-u J Uyub (i)
Define Mixed Surds. NS e Ty
Factorize. x3 + Y= Xy~ X i l'fd/"z..fj’i (iv)
Define the Remainder Theorem. ; -u'/r--"f’ L; JU’ (v)

P(x) = 23 5x% + Tx=7 ; P(2) -QJ?PJJL?/Q—ZJG{S: (vi)

Evaluate the Polynomial for the value indicated : P (x) = 23(3 - 5x2 + 7x =7 ; P(2)

Define L.C.M. _LSwf § S i)
Find LC.M. by Factorization. 21:3a%y , 35a2xYy , 28a%xy* g PSS gk i
Find H.C.F. by Factorization. 4abc3,8a3bc,6ab3c -Q/?J""(‘yl:ki_.xié.’.df.- (ix)
What is meant by Absolute Value? ?q..;f/gf e .:—A’:Jb (i)
Solve. 9x -3 = 3(2x~8) -'c,{d" (ii)
Solve. ' 3(x=2) < 2+ 1 43’ (i)
Solve. (2x +1)(5x=4) =0 {J’ (iv)
Write down the Quadratic Formula. 4’0.! =l 0 (v)
Solve by Factorization. 3x%—10x + 8 = 0 -?:)’dfh.g;{- (vi)
Define Skew Symmetric Matrix. - _a!d_gj’- g —:)G‘u(u-'ﬁf (vii)
Find Transpose. B = [ -_; -42 ] _L,:)f'}” j,‘(;[} (vii)
f A= [ g g] then find det A. -Llfr"” det A J A= é g] S (ix)
Define Straight Angle. T Y G Tt

_ti;Vé.,u.;_up 1% ek 2 ¥ aileeg 100° o K Ugal w0 G
The sum of two Angles is 100°, the supplement of the first angle exceeds the supplement of
the second angle by 40°. Find the Angles.
Define Scalene Triangle. ) _4 \.-Q’/J J ..‘.‘—»L‘*CLM..»C" (iii)
b o ¥ u/:-':f; Su \...;f..é-bz{, O /';' o K /"-’d": 2 (iv)
Draw a circle of Radius 2c¢m with centre at O.Draw a Chord and shade the portion of
Major Arc.
Define Incentre of the Triangle. -@:é'/."d/»"’f/ﬁﬂ (v)
a=5;: c=13; b=?7 nn"c" s LWLyl a,b" .?4-/(#&‘1/5&’&,,%;;5 (vi)

Find the Third Side of Right Triangle with legs " a and b" and Hypotenuse " ¢

,

a =5 ; c = 13 ; b =7
Define Cuboid. -z;/..e/’ § vl i)
Locate the point (3,6) on the number plane. -.g,(f;lb' £ G Uos £ (3,6) & i)
Find the Distance between points (a2, -b); (b, -a) -%,Mnﬁuw L (a,-b);)(b, -a) b (ix)
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Determine whether the Second Polynomial is a factor of the First

Polynomial without dividing : % i 7 x4l

() Gar2ar, Gedexr1 g ("Lba-a_)éf.j 62
By Division Method, find HCFE. of : x*+x2+1, s+ + x+1
(4) Solve. 3x=2{x-5)= 2(x+3)~-8 -4:)’ ()

(4) Solve using Quadratic Formula. (x=1)(x+3)=12=10 -u_’fJ':_. 24 J ._! G (D 7/.‘Ulf
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Draw an Equilateral Triangle with length of each side is 6 cm.

- 2 3 y
@ (aB) = B'A' Sk d B = [12 31 s A = [1 _2] S 84y
i & w [2 3] i B = ['l 3] then show that (AB)! = Bfa'
1 -2 2 1
i .
1 ] |
{ x-3y =5 -
(4) R IS U B P L LS (O
x-3y =5
Use Cramer's Rule to solve the Simultaneous Equations. _
2x - 5y = 9
| (4) -L{/f*)".}; ¥ &« X sou ¥ el e, () 9\;0/
1
!
Find the Area of an Equilateral Triangle whose side is 8 m.

) U b A L C(7,3) 4 B(3,2), A(-1,1) B Julet O

'
|
1
1
|
} Show that the points A(-1,1), B(3,2)and C(7,3) are Collinear.
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4) Xy = 10 » x + y = 7 .é g[(‘)v:"éd/ X3 + Y3 (J') Sﬂ;dl)’
Find the value of x3 + y3 when xy =10 and x +y = 7 . E ‘)
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E Note : Four possible choices A, B, C,D to each question are given. Which choice is correct, fill that circle in front of that question =
j number. Use marker or pen ink to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. :
1 ]
! . o
3 sab(a+ b)+ b =20 1A
2 l
J.p3 @ e © (a-b) B (arb) &) 1
s s————————————— T ———_ e i SR :I
2 2
a2+b2 (D) -4ab () 4ab (B} 2(a +b2} (A) : (a+b} -{a-b) '
A Linear Polynomial is of degree : : & Crizn ¥ L?/L;;).f
ol
3 (D) 2 {C} 1 {B) {] {A] :
s R e e T, WRR, ol N
If P(x) = x3-2x2+5x+1 , then P(1) = : rﬂP(l)?ﬂ P(x]~ x3-2x +5x+1 J11 (4) 4
: 3
0 (D) -7 (C) -5 (B) 5 (A) : 5
R N R SRS R v T S, AR S ™ Sl
L.C.M. of ‘12|:r3q2 4 sz is 3 : ;J’f....:l»‘l» 5’ ‘12p q2 ,8p°. (5)

!?
12qu o) 241:361“____“__((3}__ 24pq (B) 24pq A

(5,334 DN (5.3} @ {5030 @ %02 @)

{33 rD)'{:i} © {:1} ®) {1} )

4—-*-"“‘( . -"/"‘ x o JAP -ba a.dcw'{ﬁm:‘d’ + 0 # ax +b=20 f._,l,txlé_.

(6)

An Equation that can be written in the form ax + b = , a$ 0, where a and b are constants!
and x is variable is called :
Inequality .:.-l:la‘ﬁf’ (B) Linear Equation .:-I.-Po“ (A)
_____ oA seton O]
 The Solution Set of |x - 1] = 4 is : : c...e:J’( [x -1]= 4 (7)

The number of techniques to solve a Quadratic Equation is : u‘a.)&&./d’f_«! VL;J: » (8)
4 (D) 3 (© 2 B 1 (A)
The Solution Set of X2 =1 is oS x5 =1 (9)

- T T Ot . L . -

The Number of Rows and Columns in a Matrix determine its q.d);-lb s JU:JS' 2l qu.IvUC..JG'U’( (10)
S Determinant ¥ (D} Columns (¥ () Rows A5 (B) Order . : 7L - :
In Matrices (AB) =7 : . (AB) =2 .J_Lu,éaaﬁ
A At @) BA' (© B B A A -
iA Triangle with no equal side is called : : Ldl.lp( ” 2oLz (fd)df ¥ (f.tﬁ'(ﬁl (12) ZI;
} Equilateral LWl (B) Isosceles sl AUGS (A)
| Rignangled  bolhs D) Salee  SELEIST (O
,;Thc Angle Bisectors of a Triangle are ': - Lot Jysls Loas (13-)--- E
i Non - Concurrent 54 (D) Perpendicular LALAT(C) Collinear (% (B) Concurrfj'f”tmff’z B (A | ;
! Area of an Equilateral Triangle with side "a" is : D gtad € v d“b’u’.,b-cu:und,u§ 14) !
EA point in the 4th Quadrant has its ordinate  : : q_dn.é g Js;TL,wdm,ﬁdmg ....... (15) ......
) 1 (D) Zero (C) Negative & (B) Positive =2 (A) |
e e ::;\;g%*_______-_ e ey ; i
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Note : It is compulsory to attempt (6 -- 6 ) parts each from Q.No.2, 3 and 4 and attempt any (03) questiﬁé d ,
[ / /":

from Partil. W:i}a-same Question No. and its Part No. as given in the question paper.

36=2x18 4.—' ” Jilo [ Make diagram where necessary. _;J_'/t'«.f'yﬁdnfu‘-ﬁ l
Define Mixed Surds. —-#I{-i’/;d/ﬁ.ﬂu‘b; 0 240w
Solve. (31 + 2m)> = (31 - 2m)* /L G
Rationalize the Denominator. 1 -é.lk;?t f f/; (iii)
4-15
!
What is meant by Zeros of a Polynomial? "‘,‘-Jb"krc-/"’[-l}l/?’ (iv)
Factorize. 2a2 = bec - 2a_b + ac .—587; (v)

P(x) = 2= 52 + 7x=7; P(2) - JpPedf@FLLIES vi)

Evaluate the Polynomial for the value indicated : P(x) = 2x3 - 5x2 + Dong 7 ; NBel2)

Define Highest Common Factor (H.C.F.). -g{/...g}’ (,( (‘57:'.9 (vii)
Find L.C.M. by Factorization. 3223, 5a2b T ARy IRy AR
Find the Square Root by Factorization. 16x2 + 24xy + 9y2 ..él{(}“;jg.:."';.)ﬁdi (ix)
Solve. Sx= 6 = Gx=2 AL @ A
Solve. 3(x+3)= 14 +x ..u_’fd’ (ii)
Solve. |3x + 4 |= 9 -é‘l‘{gf (iii)
Solve by factorization. W sgx=3 = 0 _L{/def..f;}_ (iv)
Define a Quadratic Equation. -q/_a/’J.wv&» » (V)
Solve, 2::2 = 3x -(,f/d" (vi)
Define a Row Matrix. _g,{/...il,;lf._)b'dxlﬁ' (vii)
Multiply. [2 s ][ 2 s ] L A% iy
If A = [ g g] then find detA. -q/(:"‘-'afnfdetA A = [ g g] S (x)
Define Right Angle. ..u:/hé/;J,:;UJ’G' (i) 44
Define Quadrilateral. -q/...yf J J:(.g (ii)
Define Centroid of a Triangle. LAl § B Lak Gii
Define Direct Common Tangent. ..;{f..é’};{u‘l/yburi“’ (iv)

LIS S St 12 5 Bl gy Lk (v)
The sides of a Right Angled Triangle are” 5ecm and 12 cm. Find the Hypotenuse.

Differentiate between Cube and Cuboid. “SAIIAR ik sl o (vi)
Find the Distance between (7,-2) and (-2,3). -Q’/?Jl’ﬂ-'lic)kuﬁ (-2, 3) 2 (7, =2) (vii)
Define Collinear Points. Ll § sesA i)
Find the value of "x " in the given Triangle. _Q)FJ":.JTJ "x " u‘.'.:-l?'dfd) (ix)
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ff x=2+{3 then find the value of (i) X~ -~ and @) x2 + + é rﬂ ! 6 r s
‘ * x xz i (f / {/
-l B o

-

}
- !
(4) Factorize. 111‘5 - n6 -éf}f (.__,) i
i
!
() P rax-t, B2t w+3 gt A AL sﬁdr,aa
' i
E Find the H.C.F. by Division Method : x?+3x-4 , x3- 2x° = 2x + 3 |
! ; 1 1 ,
(4) Solve Inequality. X P 1+5X _;,[fd'..-.fl:l//! ()
!
1
(4) Solve using Quadratic Formula. 10x2— 5x = 15 _g,[fd':.. L J :b’ B 33 (L) 7;.‘1)1:'
L@ ¥ UK P Lbalb LGl (L)
Draw an Equilateral Triangle with length of each side is 6 cm. i
i
faham = [32]a A [3 ] A v
| (A+B) 7= Al + B! |
1
I
. {
1 If A = [2 4] and B = [3'2]thenverifythat |
/ 1 5 4 6 E
" (A+B)f = al+ B!
i'
= " |
{(@) L SIS S U B b L S (L i
2x+ 8y = 0
x+3y =1 |
Use Cramer's Rule to solve the Simultaneous Equations. 2+ 8y = 0 !
(4) LK e K 88 ¥ el 9w
Find the Area of an Equilateral Triangle whose side is 8 m.
E(4] - Ltﬁk‘ﬁ& C(7,3) » B(3,2), A(-1,1) LG;J,Z?C:’.? (&) l:

Show that the points A(-1,1), B(3,2) and C(7,3) are Collinear.
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